int x = 10; # WHUEFL, 28R

floy = 10.1 + int2flo(x) / 3.0; # /715

str name = "John"; # ‘7, 7HEMutf-8

bool ¢ = True; # MitkfH, =& False

B ETRBg % AT E L docString, 4o markdown i T-EESNE;
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List(int) a list = [1, 2, 3, 4, 5];

Array(int) a_array = array!([1, 2, 3, 4, 5]);

# LUNE doc string AY#ifHI

Descr : find the sqrt sum of x and y
Arguments
- x : lfs value
-y : rhs value
Example:
sqrtsum(3, 4) == 25; # True
fn sqrtSum = int x, int y -> int :
int z = x * 2 +y ** 2;
return z;

fn isJohn = str s -> bool
return case {

#print! BHE%. KREREEAH,
s == john -> {print!("Hi,

True;}
else -> False;

};

#AORME (void) BURHE L EAEEE return;
fn printCat = void -> void :

print!("cat!");

return ;

# %0
# @{} vars of Type with constraints

fn map = @(A, B in {x | contains(x.attrs,

++ JETTEARND

n ++ S ++ II!\nII);

"Any")}) # or @(A, B in Any)

(List A) origlList; ( A -> B ) aFunction -> (List B)

return match origlList{



[1 -> origlList;
[x:xs] -> cons(aFunction(origlList),
map(origList[1:], aFunction));

}
# EREEM
type Person = Person(str name, int age);
type TrafficLight = Red | Yellow | Green;
type List = @{A in Any} Nil | Cons a (List A);

Person peter = Person{"Peter", 17};

debug! (peter);



